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1)

2)

3)

4)

5

6)

In the Schrodinger’s wave equation ¥ represents . i
(A) Orbit .

(B) Wave function

(C) Wavelength

(D) Radial probability

Alkali metals in each period have
(A) LowestIE

(B) HighestIE
(C) Smallestsize

(D) Highest electronegativity

Resonance structure of a molecule should not have -
(A) Identical arrangement of atoms

(B) The same number of paired electrons

(C) Identical bond position

(D) Nearly the same energy content

In an octahedral structure, the pair of d-orbitals involved in d?sp’hybridization
is

(A) dxy’ dyz (B) df—y“du

(O A D) Al

The covalent nature of AICI, can be justified on the basis of

(A) Resonance (B) Fajan’srule
(C) Hund’srule (D) MO theory
Silicon carbide is a

(A) Molecular solid
(B) Ionic solid
(C) Covalentsolid

(D) Non-molecular solid
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7)

8)

9)

10)

11)

12)

The number of significant figures in 15.556 and 8.005 are respectively
(A) Sandl (B) 3and3
(€) 2 and 1 D) 5and 4

The explosive compound is
A) NE. . (B) NCI,
(C) NBr, ®) NI,

Liquid ammonia is used for refrigeration because
(A) It has a high heat of vaporization

B) It has a high dipole moment

(C) It is basic in nature

(D) It is more volatile

Dimethylglyoxime is a bidentate ligand, which is used in the gravimetric
analysis of

(A) Zinc (B) Nickel

(C) Calcium (D) Mercury

Identify the type of isomerism present in the [Co(NH,)Br]SO, and
[Co(NH,),SO,]Br complexes

(A) Geometrical
(B) Optical
(C) Linkage
(D) Ionisation

Based on VBT, the shapes of [NiCL]* and [Ni(CN,)]* are respectively
(A) Tetrahedral and squareplanar

(B) Squareplanar and tetrahedral

(C) Tetrahedral and pyramidal |

(D) Pyramidal and squareplanar
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13) Zirconium and titanium are purified by
(A) Electrolysis
(B) Zone refining
(C) Bassemerisation
(D) Van-arkel method

14) Which of the following is not a naturally occurring abrasives?
(A) Diamond
(B) Corundum
(C) Garnet
(D) Carborundum

15) CuSO, dissolves in ammonia due to the formation of
(A) Cu(OH),
(B) [Cu(NH,),]SO,
(C) [Cu(NH,),]SO,
(D) [Cu(NH,),(H,0),]

16) In the following reaction which is the Markownikoff’s product? -
Propene + Hydrobromic acid — ?
(A) Propyl bromide
(B) Isopropyl bromide
(C) 1,2-dibromoethane
(D) Propane

17) The reactive intermediate in the pinacol-pinacolone rearrangement is
(A) Carbanion (B) Carbonium ion
(C) Carbene : (D) Nitrene

18) Which of the following carbanion intermediate is more stable?
(A) Tertiary (B) Primary
(C) Secondary (D) Quaternary
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19) Write the [IUPAC name for the following
C
HyC—C=—¢—C

H

CHj

(A) 4-methyl-3-pentene-2-one
(B) 2-methyl-2-pentene-4-one
(C) 3-methyl-3-pentene-4-one
(D) 4-methyl-2-pentene-3-one

20) Which product is formed on nitration of nitrobenzene?
(A) 1,2-dinitrobenzene
(B) 1,4-dinitrobenzene
- (C) 1,3-dinitrobenzene
(D) Noreaction
21) Phenol does not react with sodium bicarbona_te because
(A) Phenol is strong acid
(B) Sodium bicarbonate is strong base

(C) Sodium bicarbonate is weak base

(D) Phenol is weak base

22) Which one of the following alkenes can exist as stereoisomer?

(A) A B) A~

© \[(\ (D) /ﬁ/

23) Name the reaction which involves the formation of cinnamic acid from
benzaldehyde and acetic anhydride in the presence of sodium acetate.

(A) Cannizarro reaction (B) Aldol condensation

(C) Claissen reaction (D) Perkin reaction
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24) Which of'the following compound undergoes oxidation reaction with bromine
water?

@ 2 ® [ -on
© [

25) Which of the following is a non reducing sugar?
(A) Maltose (B) Sucrose
(C) Lactose (D) Cellobiose

D) /;;\0

26) Thin layer chromatography is an example for —
(A) Partition chromatography
(B) Adsorption chromatography
(C) Liquid-liquid chromatography
. (D) Both partition and liquid-liquid chromatography

27) The structure of the active form of BHC is

Cl cl Cl £
@ g ® gy
Cl Cl Cl Cl
Cl
c d a d
Cl
€ a Cl D) CICI
Cl Cl
28) In Buna-s, s stands for
(A) Styrene (B) Synthesis
(C) Butadiene (D) Silver
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29) How many absorption peaks are observed for methyl acetate in '"H NMR?
(A) One B) Two
(C) Three (D) Four

30) Among the following which one is organophophorous insecticide?
(A) Aldrin (B) Malathion
(C) Lindane (D) BHC

31) Which one of the following solution will produce maximum boiling point
(A) 0.1 M Glucose (B) 0.2 M Sucrose
(©) 0.1 MBa(NO,), D) 0.1 MMgSO,

32) The pink color of the phenolphthalein in alkaline medium is due to absorption of
- theradiation of

(A) IR

B) UV

(C) Microwave
(D) Visible

33) When a saturated solution prepared at higher temperature is cooled, we get
(A) Super cooled solution
(B) Super saturated solution
(C) Anequilibrium mixture

(D) One molar solution
34) The ionic strength of 0.2 molal BaCl, solution is

A) 04 ®) 0.6
(€) -0:16 D) 0.3
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35)

36)

37)

38)

39)

The dispersion of the precipitated material into colloidal solution by the action
of electrolyte in solution is called

(A) Coagulation
(B) Dialysis

(C) Ultra filtration
(D) Peptisation

For the reaction H, + I, = 2HI, AH is equal to
(A) AE + 2RT :
(B) AE - 2RT

() AE

(D) AE + RT

Which of the following sets of conditions makes a process spontaneous at all
temperatures?

(A) AH=0;AS >0
(B) AH>0;AS >0
(C) AH=0;AS <0
(D) AH<0;AS <0

The edge length of face centered unit cubic cell is 508 pm, if the radius of the
cation is 100pm, the radius of the anion is,

(A) 288 pm (B) 144 pm
(C) 398 pm (D) 618 pm

For two component system involving solid-liquid equilibria, the phase rule is
Ay FE=3=P B) F=2-P
(€. F=1—-F D) F=4-P
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40) Inradiation chemistry 1 rad is equal to

(A) 8.38 x 10" ev/g (B) 6.24 x 10%ev/g
(C) 4.65x 10" ev/g (D) 2.58 x 10%ev/g

41) The net cell reaction for the cell

42)

43)

44)

Zn|Zn™(1.0M) || Cd*(1.0M)|Cd is given by
(A) Cd — Cd*+ 2e-

(B): Zn*—s 7n — Je-

(© Cd*— CdZ2e

(D) Zn + Cd* — Zn?* + Cd

Which of the following shows a metal being oxidized?
(A) Sn* + 2e-— Sn* (B) Cu—>.Cu? + 2¢
(C) Cu* +2e — Cu (D) Fe** + e — Fe2*

The reaction of 2NO + 2H, —» N, + 2H,0 is first order in [H,] and second
order in [NO]. The rate of law for the reaction is

(A) Rate =k[NOJ? [H,]

(B) Rate =k[NO] [H,]

(C) Rate =k[NOJ? [

(D) Rate = k[NO]J> [H,]

During titration of a weak acid againsta weak base, there is a sharp increase in
at the end point.

(A) Conductivity

(B) Equivalence conductance

(C) - Specific conductance

(D) None of these
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45) In the 'H NMR spectrum of ethyl alcohol, the presence of —-CH, group shows

peak at the 6 value
A) 09 B) 3.7
(C) 438 M) 5.5

46) Borate and phosphate ions are represented as
(A) BO; and PO/, respectively
(B) BO,* and PO 50 respectively
(C) BO,* and PO/, respectively
(D) BO,* and PO/, respectively

47) When an equimolar ester and NaOH in H O is heated along with a few drops
of phenolphthalein appears
(A) White solid separates out
(B) A pink coloured solution is noticed
(C) Pink colour slowly disappears
(D) No colour change takes place

48) Which information is obtained from bromine test?
(A) Unsaturation (B) Saturation
(C) Ester (D) Acids

49) Platinum electrode is commonly used as areversible electrode in the construction
of electrochemical cell. Then which of the following is correct?
(A) Platinum has zero over potential
(B) Platinum is a very good conductor
(C) Ithas very high over potential
(D) None of the above

50) The unit for the second order rate constant is
(A) mollitsec (B) mol™ lit! sec’
(C) mol lit! sec’ (D) mol"* lit sec

Sici=
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